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QUESTION 1

A customer is using hypervisor to install VMware Partner Gateways. Which two hypervisors may be used? (Choose
two.) 

A. Hyper-V 

B. Kubermetes 

C. XenServer 

D. KVM 

E. ESXi 

Correct Answer: AD 

 

QUESTION 2

A technician needs to SSH to it VMware SU-WAN Virtual Edge running version 3.3.2. What is the default password? 

A. adnim 

B. No password required 

C. Password configured in cloud_init 

D. velocloud 

Correct Answer: C 

 

QUESTION 3

A VMware SD-WAN customer has a requirement to enable single sign-on (SSO) authentication to their 

existing provider (idp) for access to their Orchestrator account. 

Which authentication protocol is supported? 

A. OpenID Connect (OlDC) 

B. LDAP 

C. SAML 2.0 

D. TACACS+ 

Correct Answer: C 
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QUESTION 4

A customer is using VMware vSphere in their data center. An administrator is asked to deploy SD- WAN Edges for a
Proof of Concept as soon as possible. Which deployment option is the roost cost and time effective? 

A. Deploy a virtual appliance on ESXi 

B. Purchase bare metal Edge 

C. Deploy a virtual appliance in AWS 

D. Deploy a virtual appliance on KVM 

Correct Answer: D 

 

QUESTION 5

A customer is using Office 365. 

How would the VMware SD-WAN recognize this application correctly? 

A. The VCE supports prioritization and QoS. Each application is assigned one of the three Service Classes and three
Business Priorities. 

B. Top SaaS Apps (TLS encrypted) are identified using put. IP and port ranges Other TLS traffic can be identified based
on the certificate information. 

C. Office 365 has to be added as part of customizing the Application Map by TCP/UDP port and subnet ranges. 

D. VMware SD-WAN will use SSL inspection to detect Office 365. 

Correct Answer: D 
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